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Note: I didn’t write these notes, I only typed them up, so if you’ve got a problem with
them, don’t tell me, because again, they’re not my notes. The notes were extremely hard
to read (both in flow and in handwriting), so I guess this is the best you’ll be getting,
because I had to improvise a little. Good Luck!

RBH Gemara TOW P> Test 3

mnawn own — "w1- He will make the meal on naw *Xx» and will therefore he will plan
the expenses on n2w, and you can’t talk about personal financial matters.

M"YI- MINIR 1T - You should view life with your love; you should support your family
with study of 7.

The father’s obligation to the son is “'7 n°72 - 1277 17, teach 77N, teach him a trade
(work), and to find him a wife.

71X 12 VI XMW - Perhaps you will select it (the chicken) on naw, so you can use it after
naw.

¥ Sw mnawn - These are things that you are allowed to talk about on naw, even though
they are “calculations”, since it is for a Mx°». An example of this is having in your mind
to give npIX.

7172 mawn - This is a source for shuls who make people give 7p7¢ when they come up for
an 7°%¥, and also when they make an appeal (Kol Nidrei appeal), and when they auction
off N9y during the o°Xx™1 o /M0,

W MO - If we say that the reason that we don’t have a wedding on naw >Xx¥n because
we may Shecht a chicken on naw, then we should also not have 719°> 01° on Monday, for

the reason that '77 commanded us to eat on the day before 719°> 01° (Sunday, in this case),

so we will prepare for the meal on naw *xxn !

If m9°5 o falls out on a Monday, we can still Shecht the chicken on a naw °Xxn, because
the Mx» to eat only starts on the morning of, not the night before (aka, he only is
obligated to eat on Sunday morning, not on 2w °X¥», which is when 719°> 01 27V actually
starts).

uwb

We reject “mnawn”, since we said that mx» 5w mawn are okay. Therefore, we say that
our reason is since he will come to Shecht a chicken on naw.

(Repeated) Question- Then how can 719°3 o1 fall out on a Monday, since you will have to
eat on Sunday?



Answer- Eating on M5°2 a1 27V is a M¥™», so it would be allowed according to the answer
of mxm Hw mawn.

Question- Why is eating on M5 01 27V a MxX°»?

Answer 1- It’s to make your 715°3 01" more difficult, since for some people they feel that
the fast is more difficult after eating, so we afflict ourselves.

Answer 2- It is a kindness of "1 to make the fast easier for us, and we will be more able to
serve Him.

Question- So if you hold according to these opinions, how can you say that M15°2 o1 may
fall out on a Sunday, since we would have to prepare for the fast by Shechting on naw?

»"w9- We shecht on naw °&Xx»n, since the meal isn’t until the next day.

W X - Our meal should be with annw, since we are confident that '3 will forgive
all of our M’2R.

We don’t let 17 n°2 fall out on Sunday, Wednesday, and Friday. We don’t allow it on
Wednesday and Friday since we don’t want 715°3 o1 to fall out on Friday and we don’t
allow it on Sunday, since we don’t want two days of no cooking.

Sunday- We don’t want 7127 732171 to fall out on naw so people won’t forget about it, and
it could happen that it falls many years in a row on n2w and people will eventually forget
727 MW completely.

-We therefore manipulate the calendar to make sure of “wx7 17X X?”

11- Thursday is the wedding, and they have °va on Friday (Thursday night). A jobless
man may marry on any day according to 17pw. When a 21 av falls out on Friday, then
they may sleep together on Thursday. If one is not concerned about 71372, then they may
marry on any day.

uwD
Three reasons for marrying on Wednesday/ the problems with them:
1. 22112 niyv-No more 7 02
2.117pw- We have catering
3. 0°7% 71972- But don’t we say that all 2°71n2 marry on Wednesday? Because we aren’t
so crazy about 1572 (hinted to in the 7).

11- If they marry on Wednesday, he will go to work the next day, but it’s not 901 for him
(supposed to spend 3 days of no working). Therefore, the 1127 took away that decision
from him-no work on Thursday or Friday (and obviously on naw). In the 7 days for a
virgin, he is also prohibited from working during that time.

Ran2a



Question- We know why virgins marry on Wednesday, so they can go to the 17 n°2. But
as for the non-virgins, who may marry on any day, why do they get married on
Wednesday-0°37% 71272, as opposed to Thursday- 078> 75727

X2v>1- Maybe you could even say that 0°37 is more preferable, since there is no ¥y77 7Y
over fish. “27% 137y~ This is what 2p¥° said to his grandchildren, and it uses the language
of fish.

mMooIN— “nawa X2 Xwim”’- The reason we gave here to exclude Sunday is because of
17w (after we said 0°9102 n1vw). We can just say that the reason is 2°x7% 7572, and in fact
we can say that we can forget 2°21n2 N1y, and just say 2°372 1372.

m1pon- But really the 71572 for 0°37 is only good advice. He wouldn’t be called a
transgressor if he didn’t marry Wednesday, and the only reason for Wednesday is
because of the 7372 of 237, then its fine, but if he disobeyed, 2°21n2 nww then he would
be doing something that is 710K.

mooIN- “O1 9102 NRO1 "W R”- If you want to say that they can marry any day, then what
about the 07X? 11972? (Assuming that it’s preferable). But, based on the 71572 only, we
don’t set up one day to get married.

mooIn -*“NR2°% - How can we ask about Friday night, we have already seen the 7n>12
saying that there is no °v2 on Friday night because of 7M.

Answer 1- He didn’t know this 7n»92.

Answer 2- He knew this 7in*92, but he didn’t know how we hold.

He also didn’t know about the following 71092 - There is no marriage on Friday because
the nmyw will go into n2w, and the people at the 77yw will want another chicken, and
they may come to slaughter the chicken on naw.

"I - “Tpd ponT”- Is the hymen like a membrane which stores blood, and the act of
breaking it is not a classic example of 771271....

OR...

M"wA - “92nn *Man”- Is the hymen like any other body organ, which when ruptured,
bleeds, therefore making it a classic example of 712n?

MYA - “Tpd TP MR nn oR”- Is he breaking the hymen with the intention for blood to
come out (which would be okay since it is 722 7p5 1), or is his intent to make an opening
(which would not be okay since it constitutes 1112 [building]).

-There is still an issue of 7112, even if it’s done for the blood-np17mn.

MY - “9"nRY”’- Even if the 1977 is like 777 9, you still need to investigate whether it
1901 (destruction with a purpose) or if it’s 5p%pn (destruction with no purpose). Fixing
something is MoK, but a destructive act is basically okay, although one who does such an
act is MoK 9ar Mo (The act is prohibited, but one who does these sort of actions is 75



from punishment). Here, removing her virginity is lowering her value, therefore, it is Mv®
TI0KR 92X since it is an act or destruction, but since there is no purpose, he is 7wo.

MY - “a9mn o7Y”- If she’s doing the act of 7°¥2 for her pleasure and the blood comes out
unintentionally- it’s still a 77127 without having 71125 (to inflict a 7712m).

b))
“aTIT 0270 1997 2"nRY’- By 37 out of the 39 maRYn, we hold that 5p%pn is 710X 728 M.
However, for the other two (?211-wound and 2°2v»-burning) we have a npYomn of whether
it is MOX 22X Mwd or if it’s MOR. 77V 7 holds that these two are just like all the other
melachos, and are therefore 7108 2% Mo, However, N¥nw “7’s opinion is that since their
very nature is 2p7pPn, when one performs one of these melachos, he is 271.

naw noon -If someone hits another person on n2w, the one who hit does not have to pay,
since he is 70 217, so we see from this that even though it’s 7p%pn, he is 21 and not
705,

So we are MWd from 2p%pn except in the cases of 721 and 7°avn - according to NynY 9.

X"2v (chart-related)- The last 7105 on the 75 7P51- When we say that it’s 2, he is
exempt from a punishment, but it’s still 7108, so how can the 7723 say that it’s allowed?
Answer 1- When the only factor is p%pn, then it’s 0K, but when 11°onn 1Xw 127 plays a
role, then it’s okay.

TOR 228 Mws- example is like eating less than a n°13 of non-kosher food.

a7 “9- If it were just 11007 PRW 127 then it’s MR, but if it’s Hp%pn, then it’s Har Mwo
710K, and both together make it .

Answer 2- Wwnw - since you’re doing it for a myn (1271 179), then it’s not MOKR AR WD,
but rather it’s 0.

-If it’s 5p%pn, but it’s for a mxn, then its okay
-If it’s Dp%pn, 1Nk PRY 127, and its for a mxn, then its okay

7w P oo- Defined as something with an unintended consequence. The example we give
is the example of one plugs up a barrel of wine with a cloth, as he plugs up the barrel, the
action of pushing the cloth trough the hole will wring it out, which is a 79X%7 on naw,
even though it was unintended.

""w1- From this case of plugging up a barrel, we see that a 17°0n» PXWw 927 is MON.

Question- If you really held that m¥» makes 20w 2p%pn, then why would our intention
make any difference if 2p%pn+ mxn=1nmn?



mooIN- “9"nR1”- Note- Cases that follow are somewhat jpnn- Quotes what 777 ' says
about two things in play but:

-by dragging there are two things at play, but its still 70K

-by digging your 7105

DY 12°I¥W 7IKYN- ex., digging a hole. Our 39 nox97» come from what we did to build
the 1own, and we’re only breaking a Xn»&7 if we do it the way it was done in the 1own. A
person who digs for the dirt (and not the hole)



